

10/01/2020

Vendor Ranking

Page 1 of 1

03200910 Letting:

September 10, 2020 2:00 PM

Call Order: 004

E3U08 Contract:

District 3 District:

Counties: HOLMES, WALTON

Fed Aid No: N/A

Contract Time: 60 CALENDAR DAYS

Project(s): 42214327280 (*)

Contract Desc: PONCE DE LEON MAINTENANCE - ASPHALT REPAIR

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	C.W. ROBERTS CONTRACTING, INC.	Responsive	Winning bid	\$375,350.18	100.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes. NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY





Tabulation of Bids

Page 1 of 6

Letting:03200910September 10, 2020Call Order:004Contract:E3U08District:District 3Counties:HOLMES, WALTONFed Aid No:N/A

Contract Time: 60 CALENDAR DAYS

Project(s): 42214327280 (*)

Contract Descr: PONCE DE LEON MAINTENANCE - ASPHALT REPAIR

The Improvements under this Site-Specific contract consists of the milling and resurfacing of asphalt surfaces and placement of pavement markings at designated locations, in Holmes and Walton Counties (as shown in Appendix A). All work to be performed at night. A Traffic Control Officer will be required for all work on multi-lane roadways. Mobilization and Maintenance of Traffic are incidental to the pay items listed.

Contractor experience form number 850-070-01 (Asphalt Paving) is required to be submitted with bid.

Line No / Item ID Alternate Item Description	Quantity Units	(1) C.W. R CONTRACT					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ASPHALT REI	PAIR (MECHANIC	AL) (TN				
0005 0327 70 1 MILLING EXIST ASPH PAVT, 1" AVG DEPTH	2,722.000 SY	29.70000	80,843.40				
0010 0327 70 5 MILLING EXIST ASPH PAVT, 2" AVG DEPTH	942.000 SY	34.10000	32,122.20				
0015 0327 70 6 MILLING EXIST ASPH PAVT, 1 1/2" A DEPTH	1,875.000 VG SY	30.45000	57,093.75				
0020 0337 7 25 ASPHALT CONCRETE FRICTION COURSE, INC BIT, FC-5, PG 76-22	157.200 TN	422.20000	66,369.84				
0025 0337 7 82 ASPHALT CONCRETE FRICTION COURSE,TRAFFIC C, FC-9.5, PG 76-	135.400 TN 22	318.45000	43,118.13				
0030 0337 7 83 ASPHALT CONCRETE FRICTION COURSE,TRAFFIC C, FC-12.5, PG 76	108.800 TN 6-22	384.40000	41,822.72				



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting:	03200910	September 10,	2020 Ca	II Order: 004		Contract:	E3U08	
	o / Item ID Alterescription	rnate Quantity Units	(1) C.W. R CONTRAC					
() indicat	tes item is bid as Lump S	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	SECTION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
	660 2106 EMBLY, F&I, TYPE F	2.000 AS	1,761.25000	3,522.50				
PAINTED P	710 11101 PAVEMENT MARKIN D, WHITE, SOLID, 6"	0.670 GS, GM	4,444.40000	2,977.75				
PAINTED P	710 11123 PAVEMENT MARKIN D, WHITE, SOLID FO NLK AND ROUNDABO)R	3.15000	2,677.50				
PAINTED P	710 11125 PAVEMENT MARKIN D, WHITE, SOLID FO ROSSWALK, 24"		5.70000	598.50				
PAINTED P	710 11131 PAVEMENT MARKIN D, WHITE, SKIP, 10- IDE		3,242.15000	152.38				
PAINTED P	710 11160 PAVEMENT MARKIN D, WHITE, MESSAGE		63.50000	63.50				
PAINTED P	710 11170 PAVEMENT MARKIN D, WHITE, ARROWS	10.000 GS, EA	190.50000	1,905.00				
PAINTED P	710 11201 PAVEMENT MARKIN D, YELLOW, SOLID, (•	4,406.65000	1,555.55				



Page 3 of 6

Florida Department of Transportation



Tabulation of Bids

Letting:	032	00910	September 10,	2020 Cal	I Order: 004		Contract:	E3U08	
Line No / I		Alternate	Quantity Units	(1) C.W. R CONTRAC					
() indicates	item is bid a	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0	0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
0075 0710 PAINTED PAV STANDARD, Y			0.122 GM	3,747.05000	457.14				
0080 0710 PAINTED PAN STANDARD, N GUIDELINE/6- 6"	YELLOW,	2-4 DOTTED		3,785.85000	609.52				
0085 0711 THERMOPLA SOLID, 12" FO ROUNDABOU	OR CROSS		850.000 ITE, LF	5.10000	4,335.00				
0090 0711 THERMOPLA: SOLID, 24" FC CROSSWALK	OR STOP L		105.000 ITE, LF	10.15000	1,065.75				
0095 0711 THERMOPLA MESSAGE OF			1.000 ITE, EA	190.50000	190.50				
0100 0711 THERMOPLA: ARROW	11170 STIC, STA	NDARD, WH	100.000 ITE, EA	63.50000	6,350.00				
0105 0711 THERMOPLA: YELLOW, 2-4 DOTTED EXT	DOTTED (GUIDE LINE	0.161 GM /6-10	2,650.10000	426.67				



Page 4 of 6

Florida Department of Transportation



Tabulation of Bids

Letting:	03200910	September 10,	2020 Ca	II Order: 004		Contract:	E3U08	
Line No / I		te Quantity Units	(1) C.W. R CONTRAC					
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
THERMOPLA	15101 STIC, STANDARD-OF PHALT SURFACES W	_	8,105.30000	380.95				
THERMOPLA GRADED ASF	15131 STIC, STANDARD-OF PHALT SURFACES, W) SKIP OR 3-9 LANE I	/HITE,	5,403.60000	253.97				
THERMOPLA	15201 STIC, STANDARD-OF PHALT SURFACES, LID, 6"	0.047 PEN GM	8,105.30000	380.95				
THERMOPLA	16101 STIC, STANDARD-OT WHITE, SOLID, 6"	0.623 THER GM	8,214.15000	5,117.42				
THERMOPLA	16201 STIC, STANDARD-OT (ELLOW, SOLID, 6"	0.306 FHER GM	8,092.05000	2,476.17				
THERMOPLA	16231 STIC, STANDARD-OT YELLOW, SKIP, 6"	0.122 THER GM	4,371.50000	533.32				
0140 E102 OFF-DUTY LA OFFICER	2 10 AW ENFORCEMENT	300.000 MH	56.60000	16,980.00				
0145 E706 REFLECTIVE MARKER(REM REPLACE)(CL	MOVE AND	109.000 EA	8.90000	970.10				



10/01/2020

Tabulation of Bids

Page 5 of 6

Letting:	03200910	Sept	tember 10,	2020 C a	all Order: 0	004		Contract:	E3U08		
Line No / Item I		Alternate Quantity Units		(1) C.W. ROBERTS CONTRACTING, INC.							
() indicates item is bid as Lump Sum			Unit Price	Ext Amou	ınt	Unit Price	Ext Amount	Unit Price	Ext Amount		

SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN

0001 ASPHALT REPAIR Section Totals: \$375,350.18

(MECHANICAL) (TN)

Contract Grand Totals: \$375,350.18



10/01/2020

Tabulation of Bids

Page 6 of 6

Letting: 03200910 September 10, 2020 **Call**

Call Order: 004

Contract:

E3U08

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.